| BEN | BAREEWN txB C | P [#EHRLrFY L] H | SLE
15A 21.7 2.0%25 45 | 20 M6 x 20 60 3.0
20A 27.2 2.0%25 45 | 20 M6 x 20 63 3.0
25A 34.0 2.0%25 45 | 20 M6 x 20 66 3.0
32A 42.7 2.0%25 45 | 20 M6 x 20 70 3.0
40A 48.6 2.0%25 45 | 20 M6 x 20 73 3.0
4 LT 4
K:/ Z ~ 7/ 50A 60.5 2.0%x25 45 | 20 M6 x 20 80 3.0
| [ | 65A 76.3 2.0%25 45 | 20 M6 x 20 88 3.0
: — — } o 80A 89. 1 2.0x25 | 45 | 20 M6 x 20 95 3.0
| i | 100A 114.3 2.0%25 45 | 20 M6 x 20 107 3.0
| |
| % 7 ‘a
] N {
t
WEARILEFY b
== R—
QL i - 1]
a <]
ﬁr N 1l _ |
k& ]
3mmB5 iR I L -
- L

a7 #i i
e g
NG )

R

& B £ %5 ZATFUL AR/ N—K 3L/ KBNYit
HE sus304 s A
_ S P ik
B=fik
B 10130013475 BN

SHEET

‘ el QR ATV SHL evssen| A3




